Linear Algebra - Part 11

Matrices >> help us to solve systems of linear equations

Example:
$$n = 3$$
, $m = 2$

$$\begin{pmatrix} 4 & \pi & 1 \\ 6 & \sqrt{2} & 0 \end{pmatrix}$$

Addition:

$$\begin{array}{c} \underline{\text{Set of matrices:}} & \mathbb{R}^{\text{mxn}} \\ & \searrow & \text{addition} \\ & & \text{and} & \sim \searrow & \text{vector space} \\ & & \text{scalar multiplication} \\ \end{array}$$

Addition:
$$A, B \in \mathbb{R}^{m \times n}$$

$$\begin{pmatrix} a_{11} & \cdots & a_{1n} \\ \vdots & \vdots & \vdots \\ a_{m1} & \cdots & a_{mn} \end{pmatrix} + \begin{pmatrix} b_{11} & \cdots & b_{1n} \\ \vdots & \vdots & \vdots \\ b_{m1} & \cdots & b_{mn} \end{pmatrix} := \begin{pmatrix} a_{11} + b_{11} & \cdots & a_{1n} + b_{1n} \\ \vdots & \vdots & \vdots \\ a_{m4} + b_{m4} & \cdots & a_{nn} + b_{nn} \end{pmatrix}$$

Example:
$$\begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix} + \begin{pmatrix} 1 & 0 \\ 2 & -1 \end{pmatrix} = \begin{pmatrix} 2 & 2 \\ 5 & 3 \end{pmatrix} \in \mathbb{R}^{2r^2}$$

Note:
$$\begin{pmatrix} 1 & 2 & 3 \\ 4 & 5 & 6 \end{pmatrix} + \begin{pmatrix} 7 & 8 \\ 9 & 10 \end{pmatrix}$$
 is not defined!

Scalar multiplication: $A \in \mathbb{R}^{m \times n}$, $\lambda \in \mathbb{R}$

$$\lambda \cdot A = \lambda \cdot \begin{pmatrix} a_{11} & \cdots & a_{1n} \\ \vdots & & \vdots \\ a_{m1} & \cdots & a_{mn} \end{pmatrix} := \begin{pmatrix} \lambda \cdot a_{11} & \cdots & \lambda \cdot a_{1n} \\ \vdots & & \vdots \\ \lambda \cdot a_{m1} & \cdots & \lambda \cdot a_{mn} \end{pmatrix} \in \mathbb{R}^{m \times n}$$

$$\hookrightarrow$$
 $(\mathbb{R}^{m \times n}, +, \cdot)$ is a vector space

<u>Properties:</u> (a) $(\mathbb{R}^{m \times n}, +)$ is an abelian group:

(1)
$$A + (B + C) = (A + B) + C$$
 (associativity of +)

(2)
$$A + O = A$$
 with $O = \begin{pmatrix} 0 & \cdots & 0 \\ \vdots & & \ddots & 0 \end{pmatrix}$ (neutral element)

(3)
$$A + (-A) = 0$$
 with $-A = \begin{pmatrix} -a_{11} \cdots -a_{1n} \\ \vdots & \vdots \\ -a_{m1} \cdots -a_{mn} \end{pmatrix}$ (inverse elements)

(4)
$$A + B = B + A$$
 (commutativity of +)

(b) scalar multiplication is compatible: $\cdot : \mathbb{R} \times \mathbb{R}^{m \times n} \longrightarrow \mathbb{R}^{m \times n}$

$$(5) \quad \lambda \cdot (\mu \cdot A) = (\lambda \cdot \mu) \cdot A$$

(c) distributive laws:

$$(7) \quad \bigwedge \cdot (A + B) = \lambda \cdot A + \lambda \cdot B$$

(8)
$$(\lambda + \mu) \cdot A = \lambda \cdot A + \mu \cdot A$$